
(4) 3/8" Dia.
anchor bolts

Hinge pin

1-1/4" Dia. stainless steel
swing-up grab bar sch. 40

Toilet paper holder

2' 
- 9

"

R 3 7/8"

8 3
/4"

Metal stud beyond

6"x2"x1/4" Tube Steel

12"x4"x1/4" Steel plate,
(Top and Bottom)

3/8"x6" Plate, 2" Wide

3/16" Weld12"x4"x1/4" Steel plate, 5/8" dia. expansion
bolts to concrete or weld to steel

6"x2"x1/4" Tube steel, not to exceed 15'-0"

Mounting bracket

3/8" dia bolts, typ. of four (4)

Hinge pin

Swing-up grab bar

Ceramic TileMetal Sleeve

1/4" Rubber gasket
Mounting bracket

12"x4"x1/4" Steel plate
(Top and Bottom)

6"x2"x1/4" Tube Steel
welded to BOT plate w/
3/16" weld

4" Metal studs

5/8" Exp. bolts for conc.

Swing-up grab bar

5/8" W.R. Gyp. bd.

metal frame

schedule

Interior stud wall
see Floor Plan

Hollow

Door - see

Interior sealant, typ.
at both sides of wall

Sound attenuation
batts, typ.

5/8" Coated glass mat water-resistant
gypsum backing panel at "wet" walls,
5/8" Water-resistant gyp. bd. at "dry" walls

Adhesive
Ceramic tile

Thin-set mortar bed

Adhesive

Ceramic tile, W5

Metal stud framing,
see plan

Ceramic tile

(e) Concrete slab

5/8" Coated glass mat water-resistant
gypsum backing panel at "wet" walls,
5/8" Water-resistant gyp. bd. at "dry" walls

Cove tile base, match (e) profile, color, and height

T.O. (e) Adjacent Tile Base

Adhesive

Ceramic tile

Metal stud framing,
see plan

Ceramic "Bull-nose" edge

5/8" Water-resistant gyp. bd. at "wet" walls,
5/8" Gypsum bd. at "dry" walls

5/8" Coated glass mat water-resistant
gypsum backing panel at "wet" walls,
5/8" Water-resistant gyp. bd. at "dry" walls

2"

T.O. (e) Adjacent Decorative Tile Border

Thin-set mortar bed

5/8" Coated glass mat water-resistant
gypsum backing panel

Adhesive

Ceramic tile

Metal stud framing,
see plan

Shower membrane to
extend to top of tile wall

Ceramic tile, slope tile
1/8:ft. to floor drain

Floor drain, see Plumbing

(e) Concrete slab

Cove tile base,
see Finish Schedule

T.O. Base Tile Color, W5

(e) 3-1/4" Metal stud wall

(e) Wall tile on setting bed
over metal lath

Ceramic wall tile -thinset
over tile backer board
to extents shown on
interior elevations

(e) Grout line

(e) Concrete slab

(e) Tile flooring

Contractor to base location of
patch from available salvaged
material.

Floor tile thin-set over (e)
concrete slab.  Finish floor
shall be level with existing.

(e) Grout line
  12"

Patch from salgaged tile base from Toilet
B4102.  Remove entire base from at least one
wall.  No partial base removal allowed.

3

Leveler by manuf,
typical of six (6)

3/8" Ø Anchorage bolts by manuf,
typical of four (4)

Note:
Contractor to provide shop drawings of base unit.
Coordinate with patient server manuf. for dimensions
and location of anchor points and levelers.

1/8" bent plate
channel support
base - all welded

L3x2x3/16 LLH

3' - 0 1/2"

1' 
- 6

"

3"
1' 

- 0
"

3"

3" 1' - 3" 3" 1' - 0 1/2" 3"

3/16" Stiffener at
L3x2, Typ.

1/8" Bent plate
channel support
base - all welded

SE
CT

IO
N

Plan

Section

Typ.

10
"

1"

5/8" Ø Simpson Set-XP
epoxy anchors, typ.  Provide
(1) ea. corner and at centers
of long sides - (6) total

Non-Shrink grout, typ.

L3x2x3/16 LLH

Typ.
3/16

Ali
gn

 do
or 

pa
ne

l w
ith

 fa
ce

of 
ac

ce
nt 

pa
ne

l

1/2
" R

ev
ea

l

Metal closure panel,
paint to match factory
finish of patient server

Shelving unit and
base by manuf.

Solid Color Reinforced
Composite panel, see Finish
Schedule and
Specifications

Metal stud framing

18ga Galv. sheet metal deck,
turn down edge of wall 1-1/2",
paint flat black

1 1
/2"

V.I.F.

Solid Color Reinforced
Composite panel, see Finish
Schedule and Specifications10

"

(e) Concrete slab 6" Stainless steel base

3-5/8" Metal stud
framing

4" Metal stud framing

Solid Color Reinforced
Composite panel,
see Finish Schedule
and Specifications

Align door panel with face of gyp. bd.
5/8" Gypsum board

1/2" Reveal

Metal closure panel, paint to match
factory finish of patient server

1x Wood stop,
paint flat black

Metal stud wall
framing, see Plan

4" Metal stud framing

Solid Color Reinforced
Composite panel, see Finish
Schedule and Specifications

Ali
gn

 do
or 

pa
ne

l w
ith

 fa
ce

ac
ce

nt 
pa

ne
l

Metal stud wall framing, see
Plan

1/2
" R

ev
ea

l

Metal closure panel,
paint to match factory
finish of patient server

Solid Color Reinforced
Composite panel, see Finish
Schedule and Specifications

Shelving unit by manuf.

16Ga. Aluminum
brake metal reveal
with black powder
coat finish

1/2"

V.
I.F

.

Stainless steel pull bar, Hafele
#117.05.690 or approved
equal.  Install 4-1/2" from
center of HPDL panel toward
patient room door.

3/4
"

Align with top of (e)
H.M. door frame
T.O.  Reveal

See plan
B.O. Ceiling

Gyp. bd. ceiling

  4"

V.
I.F

.

1"1/4"

Melamine frame
beyond

Hinge, min. of
three (3)

P. Lam. patient server
doors on 3/4"
substrate with
aluminum wire pull
handle at ea. panel

Solid surface sill
with squared edge

Metal stud wall,
see Plans

Gyp. bd.

Sound attenuation
batts, typ.

18ga Galv. sheet
metal deck, paint
flat black, typ.

Interior sealant, typ.
Interior sealant, typ.

Steel channel base
frame

1/4
"

Melamine frame

Hinge, min. of
three (3)

P. Lam. patient server doors on
3/4" substrate with aluminum
wire pull handle at ea. panel

Sound attenuation
batts, typ.

Metal stud jamb

1"

Solid surface sill with
square edge and 1/4"
round  corners

1/2
"

Melamine frame

Hinge, min. of
three (3)

P. Lam. patient server
doors on 3/4" substrate
with aluminum wire pull
handle at ea. panel

Metal stud wall,
see Plans

Gyp. bd.

Sound attenuation
batts, typ.

Built-up header

Metal stud wall framing,
 see Plan

Solid Color Reinforced
Composite panel,
see Finish Schedule and
Specifications

See plan
B.O. Ceiling

Suspended grid ceiling system
w/ acoustical lay-in tile panels,
see Plan for ceiling heights

5/8" Gypsum board

1/2" 16Ga. Aluminum
reveal with black
powder coat finish

5/8"

1/2
"

1/2"

3/4
"

Interior sealant, typ.

18ga  Galv. sheet metal
deck, paint flat black, typ.

Metal stud framing,
see Plan

Steel channel
base frame

7
AI841

Typ.

Stainless steel pullbar, Hafele #
117.05.690 or approved equal.
Center vertically on operable panel,

Fixed Solid Color Reinforced
Composite panel, see Finish
Schedule and Specifications

Operable panel Solid Color
Reinforced Composite panel,
see Finish Schedule and
Specifications

Fixed Solid Color Reinforced
Composite panel, see Finish
Schedule and Specifications

6" Stainless steel base over Solid
Color Reinforced Composite panel

CL

4 1/2"

Side Nearest to
Patient Door

1/2
" R

ev
ea

l
1' 

- 3
 1/

2" 
+/-

1/2
" R

ev
ea

l
6' 

- 3
"

1/2
" R

ev
ea

l
10

"

See plan
B.O. Ceiling

V.
I.F

.

8' 
- 6

"

Align w/ top of (e) door frame
T.O. Reveal

W

AT

RA

EN

AD
V

S

TA
E O F

T
ETC CH I

RE EET

2260

HERSHENO

JR
.

XA
M.

M

SIG DR

Professional Seal

CONSULTANTS: ARCHITECT/ENGINEERS: Drawings Title

Approved: Project Director

Project Title

VA FORM 08-6231

Location

Date Checked Drawn

Drawing Number

Building Number

Project Number

Office of
Construction
and Facilities
Management

o
n
e
 
e
ig
h
th
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
 
 
 
 
 
4
 
 
 
 
 
8
 
 
 
 
 
 
 
 
 
 
 
1
6

o
n
e
 
q
u
a
rt
e
r 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
 
 
 
 
 
 
 
 
 
 
 
4
 
 
 
 
 
 
 
 
 
 
 
8

0
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
4

th
re
e
 
e
ig
h
th
s
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
4

o
n
e
 
h
a
lf
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
0
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2

th
re
e
 
q
u
a
r t
e
rs
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
 
0
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2

o
n
e
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
 
 
 
 
0
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
1

o
n
e
 
a
n
d
 
o
n
e
 
h
a
l f
 
in
c
h
e
s
 
=
 
o
n
e
 
fo
o
t

6
"

th
re
e
 
in
c
h
e
s
 
=
 
o
n
e
 
fo
o
t

F

E

D

C

B

A

987654321

Bldg. 12

Number Revision Date

M
:\A

ca
dw

in
\2

01
1 

pr
oj

ec
ts

\1
12

6\
11

26
L\

11
26

L 
R

ev
it\

11
26

L 
V

A 
3C

-4
th

 F
lo

or
 R

en
ov

at
io

ns
.rv

t
12

/5
/2

01
3 

8:
39

:3
8 

AM

Renovation of 3C/4th Floor
to Single Patient Rooms

975 Kirman Avenue, Reno NV 89520

Bid Documents

AI842

Details

August 22, 2013

654-12-724

MMH EL

08/22/13

 1 1/2" = 1'-0"

2 Swing-Up Grab Bar Detail - Side Elevation

 1 1/2" = 1'-0"

3 Swing-Up Grab Bar Detail - Front Elevation

 1 1/2" = 1'-0"

1 Swing-Up Grab Bar Detail - Plan

 3" = 1'-0"

4 Ceramic Tile at Door Jamb

 3" = 1'-0"

5 Ceramic Tile Wall to Floor

 3" = 1'-0"

6 Ceramic Tile Wainscot

 3" = 1'-0"

7 Ceramic Tile Wall to Floor at Shower

 3" = 1'-0"

8 Wall Tile Patch

 3" = 1'-0"

9 Marble Floor Tile Patch

 1 1/2" = 1'-0"

10 Patient Server Steel Channel Base Frame

 3" = 1'-0"

12 Patient Server Door Panel - Sill/Base

 3" = 1'-0"

13 Patient Server Door Panel Jamb

 3" = 1'-0"

14 Patient Server Door Panel - Head

 3" = 1'-0"

17 P.O.U. Patient Side Access Door - Sill

 3" = 1'-0"

18 P.O.U. Patient Side Access Door - Jamb

 3" = 1'-0"

19 P.O.U. Patient Side Access Door - Head

 3" = 1'-0"

15 Patient Server Decorative Panel at Ceiling

 3" = 1'-0"

11 Patient Server Floor Deck to Wall Framing

 1" = 1'-0"

16 Patient Server Door Panel Elevation

3 Addendum #3 12/05/13


